TCCCE = : iaeh)
Innensechskant- - L SR
. | { e

Linsenkopf B ﬁ:\| G m— i 5

-- % s

T +2P SRR
0
I

kisy | I BIEH)

Code. d | D b(*) t k v S r Ds r.l
105100410 M4 x 0,7 10 | 10 23| 25 | 05 | 25 | 02 | 4 | 69 |
105100415 M4 x 0,7 15 | 10 23 | 25| 05| 25| 02| 4| 69 M4
105100420 M4 x 0,7 20 | 10 23| 25| 05| 25| 02| 4] 69
105100510 M5 x 0,8 10 | 12 25 | 3,0 1 3 02 ] 5 | 94
105100515 M5 x 0,8 15 | 12 25 | 30 1 3 02| 5 | 94
105100520 M5 x 0,8 20 | 12 25 | 30 1 3 02| 5 | 94 M5
105100525 M5 x 0,8 25 | 12 | 16 | 25 | 3,0 1 3 02| 5 | 94
105100530 M5 x 0,8 30 | 12 | 16 | 25 | 3,0 1 3 02| 5 | 94
105100610 M6 X 1.0 10 | 16 27 | 35 | 12 | 4 05 | 6 14
105100615 M6 X 1.0 15 | 16 27| 35| 12| 4 [025] 6 14
105100620 M6 X 1.0 20 16 27 | 35 | 1.2 4 | 025 6 14 M6
105100625 M6 X 1.0 25 | 16 | 18 | 27 | 35 | 12| 4 |025]| 6 14
105100630 M6 X 1.0 30 | 16 | 18 | 27 | 35 | 12| 4 |025]| 6 14
105100635 M6 X 1.0 35 | 16 | 18 | 27 | 35 | 12| 4 |025]| 6 14
105100640 M6 X 1.0 40 | 16 | 18 | 27 | 35| 12| 4 |o025]| 6 14
105100645 M6 X 1.0 45 | 16 | 18 | 27 | 35| 12| 4 |o025]| 6 14
105100650 M6 X 1.0 50 | 16 | 18 | 27 | 35 | 12 | 4 |025]| 6 14
105100810 M8x1,25 10 | 16 36 | 4 13 5 04 | 8 12
105100815 M8x1,25 15 | 16 36 | 4 1,3 5 04 | 8 12 45g
105100820 M8x1,25 20 | 16 36 | 4 1,3 5 04 | 8 12 500
105100825 M8x1,25 25 | 16 36 | 4 1,3 5 04 | 8 12 6,09
105100830 M8x1,25 30 | 16 | 22 | 36 | 4 1,3 5 04 | 8 12
105100835 M8x1,25 35 | 16 | 22 | 36 | 4 1,3 5 04 | 8 12
105100840 M8x1,25 40 | 16 | 22 | 36 | 4 1,3 5 04 | 8 12
105100845 M8x1,25 45 | 16 | 22 | 36 | 4 1,3 5 04 | 8 12
105100850 M8x1,25 50 | 16 | 22 | 36 | 4 1,3 5 04 | 8 12
105101020 M10 x 1,5 20 | 18 40 5 1,6 6 04 | 10 | 12,3
105101025 M10 x 1,5 25 | 18 4,0 5 1,6 6 04 | 10 [ 123 | M10
105101030 M10 x 1,5 30 | 18 4,0 5 1,6 6 04 | 10 | 12,3
105101040 M10 x 1,5 40 | 18 | 26 | 4,0 5 1,6 6 04 | 10 | 12,3
105101050 M10 x 1,5 40 | 18 | 26 | 4,0 5 1,6 6 04 | 10 | 12,3

Feingewinde
105101120 M1I0Ox 1,25 | 20 | 18 40 5 1,6 6 04 | 10 | 12,3
105101125 M10x1,25 | 25 | 18 4,0 5 1,6 6 04 | 10 | 123 | 105¢
105101130 M10x1,25 | 30 | 18 4,0 5 1,6 6 04 | 10 | 123 | 125¢

Angegebene Gewichte beziehen sich auf TITAN

Seite 12

The Light Parts Company MCET
Stand 15.02.2016



